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$Programming in MATLAB to
$solve for a 2-DOF Harmonically-excited vibration

$Define [M], [C], [K] and right-hand side of math model
M=[11 0; 0 22]

C=[91 -10; -10 50]

K=[1000 -500; -500 2000]

F=1

3Define frequency of excitation
w=50;

$Form the impedance matrix
Z=M* (-w"2)+C* (1*w) +K

%$Solve for X*
Xcmplx=inv (Z) *F

%Obtain amplitude and phase delay of vibration

X=abs (Xcmplx)
S=angle (Xcmplx)



Results of MATLAB run

M:
11 0
0 22
C:
91 -10
-10 50
K:
1000 -500
-500 2000
F:
1
0
W:
50
Z:
1.0e+004 ~*
-2.6500 + 0.45501 -0.0500 - 0.05001
-0.0500 - 0.05001 -5.3000 + 0.25001
Xcmplx =
1.0e-004 ~*
-0.3665 - 0.06311
0.0027 + 0.00421
X:
1.0e-004 ~*
0.3719
0.0050
S:
-2.9712

1.0029





